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WORKSHEET 2-4.5 
 

 

1. 
4

9
+

2

6
= 

 

 

 

2. 
1

6
+

4

8
= 

 

 

3. 
1

4
+

5

8
= 

 

 

4. 
5

12
+

3

8
= 

 

 

5. 
2

3
+

1

6
= 

 

 

6. 
3

14
+

3

4
= 

 

 

7. Beth ate 
3

8
 of the pizza and Chris ate 

3

5
 of it.  Is there any pizza left? 

 



ANSWERS:  WORKSHEET 2-4.5 
 

 

1. 
4

9
+

2

6
= 

8

18
+

6

18
=

𝟏𝟒

𝟏𝟖
 

 

 

 

2. 
1

6
+

4

8
= 

4

24
+

12

24
=

𝟏𝟔

𝟐𝟒
 

 

 

3. 
1

4
+

5

8
= 

2

8
+

5

8
=

𝟕

𝟖
 

 

 

4. 
5

12
+

3

8
= 

10

24
+

9

24
=

𝟏𝟗

𝟐𝟒
 

 

 

5. 
2

3
+

1

6
= 

4

6
+

1

6
=

𝟓

𝟔
 

 

 

6. 
3

14
+

3

4
= 

6

28
+

21

28
=

𝟐𝟕

𝟐𝟖
 

 

 

7. Beth ate 
3

8
 of the pizza and Chris ate 

3

5
 of it.  Is there any pizza left? 

 

 
3

8
+

3

5
=    

15

40
+

24

40
=

𝟑𝟗

𝟒𝟎
   Yes, there is some pizza left. 

 

If they had eaten 
40 

40
 of the pizza, there would not be any left. 

 


